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Ty
¥ = x| X EHPF
9/15  |1.1 a2 §25(1lhr)
1 9/17 1.2 eV T g w41 5 2 S#ic(lhr)
NE RN S 1.3 £ 34(2hr)
#1451 ) 9/22  |1.3 F &d(2hr)
9/24 |14 S8 e (1.4.1-1.4.3)(2hr)
9/29  |Eh B
3 loy] |- e # i RHEe(Zhr) |
Quiz1: 1.1 ~ 1.3
. 10/6 2.1 # a0 8(2. 1. 1~2. 1. 5)(5hr)
10/8 2.1 % 3 #<(2.1.1~2.1.5)(5hr)
10/13 2.1 # a0 %(2. 1. 1~2. 1. 5)(5hr)
- 2.1 # & #c(2.1.1~2.1.5)(5hr)
10/15 [Q & A
Quiz 2: 1.4~1.5
= R L
10/20 [2.2 T 32 %38 (2hr)
6 2.2 T 3o 232 (2hr)
0722 5 s g 15 (1hr)
10/27 2.4 fe* ¢ 45 it 3B (2.4.1~2.4.2)(3hr)
7 lojge P-ATET EESERY (2.4.1-2.4.2)(3hr)
Quiz 3: 2.1~2.3
11/3 2.5 #ch ehfig* —% & 1 (3hr)
8 11/5 2.5 #ch éhfig* —% & 1 (3hr)
] 11/10 Q & A
11/12 wedd WMLl ~ 2.5
0 /17T B 1A as - % fr2 244 (3.1.1-3.1.2)(1hr)
11/19 (3.2 #cff » # ~ #32(2hr)
=N i 11/24  [3.3 & 4 A $77(3.3.1~3.3.4)(Thr)
1 l1jgp 3B AR H7(3.3.1-3.3. O (Thr)
Quiz 4: 3.1~8.2
. 12/1 3.3 3 # 4% A #737(3.3.1~3. 3. 4)(Thr)
12/3 (3.3 & ~#% A #77(3.3.1~3.3.4)(Thr)
12/8 (3.3 & &% A #77(3.3.1~3.3.4)(Thr)
13 12710 PEA ,
Quiz 5: 3.3
" 12/15 3.4 kA he* (3.4.1~3.4.2) (2hr)
12/17 3.4 44 his* (3.4.1-3.4.2) (2hr)




R

e

4.1 & A k] F+ 0 S v sdicat 42 (2hr)
12/22 {41 & Al a5 0 v st 42 (2hr)
15 4.2 %x # %32 (1hr)
12/24 4.3 % * Exv@:_&ﬁ?r ¥ 3%(4.3.1~4.3. 2)(2hr)
Quiz 6: 3.4~4.2
16 12/29 4.3 % * ﬁ'vﬁiﬁﬂij@ # K ;(4.3.1~4.3.2)(2hr)
12/31 4.4 3 ¥ 3320 * (4.4.2)(3hr)
v g 17 1/5 4.4 3 B LA (4.4.2)(3hr)
1/7 0 &A
8 /12 %%
1/14 ry FH:31 ~ 4.4




